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Estimation of Setting Time and Compressive Strength of Ternary Blended Concrete
Applying Estimator
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Abstract : This study aimed to evaluate the feasibility of estimating the setting time and compressive strength in Ternary Blended Concrete(TBC)
using Settimeter, Strength meter, and Hybrid meter. It was determined that the hardness values at the initial setting time and final setting time of
Settimeter, Hybrid meter, and at the 5 MPa of Strength meter were not affected by the mixing ratio of TBC. However, future studies need to consider
the errors caused by the instability of the measurement surface during condensation and the state of the measurement surface after hardening.
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